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41 line 8 and 9
translation in z direction translation in y direction

57 equation 6.4
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57 below equation
6.4

... the factor of stiffness klarge angle divided by the torsional stiffness
kI is plotted against the angle to length ratio θ/L ...

... the factor of stiffness krlarge angle
divided by the torsional stiffness

kI is plotted against the angle to length ratio φ/L ...

58 figure 6.7 figure of stiffening should be as in figure:
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60 calculation
Cw = .... = 8.10 · 105mm4 Cw = .... = 8.10 · 105mm6

61 calculation

β = ..... = 3.04 · 103 1

mm
β = .... = 3.04 · 10−3 1

mm

61 calculation

krI = ..... = 15.7
Nmm

rad
krI = .... = 1.57 · 104Nmm

rad
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61 calculation

krII = ..... = 529
Nmm

rad
krII = .... = 5.29 · 105Nmm

rad

61 calculation

krIII = ..... = 20.6 · 102Nmm

rad
krIII = .... = 2.06 · 106Nmm

rad

61 calculation

krIV = ..... = 40.5 · 102Nmm

rad
krIV = .... = 4.05 · 106Nmm

rad

66 equation 6.16
line 1 σmax = .... for a ≥ 1

2
σmax = .... for a ≤ 1

2

66 equation 6.16
line 3 σmax = .... for a ≤ 1

2
σmax = .... for a ≥ 1

2

77 figure 6.34e
lenght p lenght pL

90 equation 8.7

δsh = −1

2

δ2c
L

δsh = −1

2

δ2

L

90 last paragraph The shortening of the simple beam is easier to derive when it is mod-
elled as two cantilever beams with a force at the ends.

This is valid for simple beams where the force is applied exactly in
the middle (and an approximation for forces close to the middle).

123 equation 10.22
W
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=
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= ...
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dt
= ...
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123 equation 10.30

ζ ≈ ω2 − ω1

ωn
≈ ∆ω

ωn
ζ ≈ ω2 − ω1

2ωn
≈ ∆ω

2ωn

182 equation 13.25

c = η ·
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3π(2r)3w
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